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B. Sc. (Part I) EXAMINATION, 2018 Explain the following :
CHEMISTRY (1) Tr?Chlomacetic acid is stronger acid than acetic
Paper Second _ acid.
(Organic Chemistry) (i) Glycerine is far more viscous than methy]
Time : Three Hours | | Maximum Marks © 33 E _:£ i) iz?:;zi‘ ) for b | .
A - m g % SR SR | s T ¥ 9T g ? Anlin is weaker base as compared to methv|
gl i 2
Attempt all the five questions. One question from each § § s
Unit is compulsory. b (Or)
SPE—1 §_ §_ (@) wudE e
(UNIT—1) ) () WM wara
1. @) SRAC-C Iagouawd adf g f f (i) ARE yE
G) 154 A S 3 (iii) aRRe worg
(i) 139A ° (iv) sRIgeA
(iii) 1.34 A _ No bond resonance is : -
(iv) 120A ) () Inductive effect

(ii)) Mesomeric effect
(iii) Steric effect

The bond length between C - C in benzene is -

(i) 154A .

() 1394 (iv) Hpyperconjugation

i) 134 A ® m W it Rt foifay 6
(V) 120A () RIS 7 YRefs s

(i) PET A e o R~
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[2] B-2516

Write short notes on the following :
(1} Electrophilic and Nucleophilic reagent
(ii)  Structure and stability of free radical
THE—2
(UNIT—2)
frafafad 4 9 #W-w dife Gefie SHeaaa g

D

() dffes s
(i) “ieafes aa
(iii) wiff® 2

(iv) T9da A | %7g A2
Which of the following compounds shows optical
isomerism ?

(1) Lactic acid

(il) Oxalic acid

(1) Formic acid

(iv) None of the above

fforRaa &t &wemee 5
(i) ufafiasg

(i) fYem

(iii) gy fram

Explain the following :

(iy Enantiomens

(i) Chirality

(ii1) Sequence rules

P.T.0.
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[4] B-2516

FHUqQr
((h)

) fefaiee § | sE-w 9ifve sofvda sraaaar sufar

@

27 1
(i) CH;CHOH.COOH

(i) CH;.CH=CH.COOH

(i) CH,.CH,.COOH

(iv) HOOC - CH; - COOH

Which of the following compounds shows geometrical
isomerism 7

(i) CHs.CHOH.COOH
(i) CH..CH = CH.COOH
(iii) CH5.CH,.COOH

‘(iv) HOOC - CH, - COOH

dieed WIdm &1 IER0 |ied TART 3
Explain Walden Inversion with example.”
fr=feofea 4l & E @1 2 a9 qasu 3
CL\ c<)1
@
H,C Cl

i) > = <
H.C; OOH
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[5] B-2518
H Cl
(iii) \(- - <
”;C/ CH, Cl

Give E or Z configuration of the following compounds :

o)

(i) C =
/
i \Br
H,C Cl
(1) >C =c/
HlCs \CooH
- H\C /{:1,
111 = -
i enyo
THE—3
(UNIT—3) o

mﬁm-?m‘@ﬂamﬁmﬁamm}: 4
() W Ni SoRe @ SwRfy § wRgee @

Wy far s 2
(i) ERIAINT T B T R v 2

(ili) TN ST KMnO, 1B, Wl B awa #1

(iv) WREA<AM Zn-Hg R HCl & o .
m%:

http://www.a2zsubjects.com

wodspafgnszze mmay/idny

wodspfgnszze-mmamidny

4

(=)

)

http://www.alzsubjects.com

~2516
[6] B

What happens when (Write chemical cquations only}

(i) Cyclopropan€ peacts with hydrogen in presence
of Ni catalyst.

(i) Cyelopropane reacts with bromine.

(iii) Cyclohexane reacts with alkaline KMnOs.

(iv) Cyclopentanone reacts with Zn-Hg and HCL

R @ o fegra B TR | 3
Explain Baeyer’s strain theory.

4y

(Or)
fuaela i RE BT TEEE | 2

Discuss the structure of Naphthalene.
uaem § TeagTeiNe TR gEm o
g & | &l 7 e 2

Explain why electrophilic substitution in naphthalene

e

takes place mainly at the o -positions 7

Tk ArEere @t feafef fofav 3

Write the mechanism of Nitration in Naphthalene.

TPHIe—d

(UNIT-—)
wifedm B § Fe eEEr B §
(iy SerdF
(i) Fiy
(ni) 0F
{1v) ]
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[7] B-2516
HHydrogen attached to acetylene carbon is
(i) MNeutral
(i) Acidic
(iii) Basic
(iv) Amphoteric 2

whifee iﬁ@ﬁ,fmﬁﬁamw“HW?
How will you distinguish between acetylene and

ethylenc 7
. £ T 3
o T @ ot @1 Braie @1 wEERT |

i ehydrati thyl
Explain the mechamsm of dehydration of Ethy

alcohol.

gl

(Or)
T{gﬁqﬁmm??us-mﬁ HBr @ & &
frafafd s | 4
What are conjugated dieses 7 Explain the mechanism
of addition of HBr in 1, 3-butadienc.

Bea-teex At w e ool fafag) 2
Write a note oh Diels-Alder reaction.

TFE—5 '

(UNIT—S5)
tfedal Beigs W (eplgiall KOH}I%@WW@‘%J
(i) " TEeliHeT !
(i) AT :
(i) wfoeIgE
(iv)  Ficie
P.T.O.
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The reaction of alkyl halide with alcoholic KOH is
known as : .

(i) Polymerisation

(i) Addition

(1if) Substitution

(iv) Elimination

Yoor fram aar @ 7 STERer S gHIEt 2
What is Saytzeff’s rule ? Explain with example.

WfFa doe & g, affva & frfad fafag) 3

Write the mechanism of E, reaction of alkyl halide.

AT

(Or)
Tae 2w smme A welig NaOH @ W affrm
@1 Bty ferfa | ]

Give a mechanism for the reaction of tertiary butvl
bromide with aqueous NaOH. # '

SN' Tl Sn? il § s TG |

[

Give differences between St
: veen SN ; S ;
en SN' and §x2 Teaclons.

13,300

http://www.a2zsubjects.com

wodspafgnszze mmay/idny



